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struct sockaddr {

unsigned short sa_family; /* address family, AF _xxxx */
char sa_data[14]; /* 14 bytes of protocol address */
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struct sockaddr in {

short int sin_family; /* Address family */

unsigned short int sin_port; /* Port number */

struct in_addr sin_addr;  /* Internet address */

unsigned char sin_zero[8]; /* Same size as struct sockaddr */
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#include <sys/types.h>

#include <sys/socket.h>
int socket(int domain, int type, int protocol);
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#include <sys/types.h>

#include <sys/socket.h>

int bind(int sockfd, struct sockaddr *my_addr, int addrlen);
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#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>

#define MYPORT 3490
main()

int sockfd;
struct sockaddr_in my_addr;

if ((sockfd = socket(AF_INET, SOCK_STREAM, 0))!=NULL){
my_addr.sin_family = AF_INET,; /* host byte order */
my_addr.sin_port = htons(MYPORT); /* short, network byte order */
my addr.sin_addr.s addr =inet addr("132.241.5.10");
bzero(&(my_addr.sin_zero), 8); /* zero the rest of the struct */

if (bind(sockfd, (struct sockaddr *)&my _addr, sizeof(struct sockaddr))!=-1){
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#include <sys/socket.h>

int accept(int sockfd, void *addr, int *addrlen);
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#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>

#define MYPORT 3490 /* the port users will be connecting to */
#define BACKLOG 10  /* how many pending connections queue will hold */

main()

{

int sockfd, new_fd; /* listen on sock fd, new connection on new_fd */
struct sockaddr_in my_addr; /* my address information */

struct sockaddr_in their_addr; /* connector's address information */

int sin_size;

if ((sockfd = socket(AF_INET, SOCK_STREAM, 0))!= NULL){

my addr.sin_family = AF INET; /* host byte order */
my_addr.sin_port = htons(MYPORT); /* short, network byte order */

my addr.sin_addr.s addr =INADDR ANY; /* auto-fill with my IP */
bzero(&(my_addr.sin_zero), 8); /* zero the rest of the struct */

if (bind(sockfd, (struct sockaddr *)&my _addr, sizeof(struct sockaddr))!=-1){
listen(sockfd, BACKLOG);

sin_size = sizeof(struct sockaddr in);
new_fd = accept(sockfd, &their addr, &sin_size);
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int send(int sockfd, const void *msg, int len, int flags);

int recv(int sockfd, void *buf, int len, unsigned int flags);
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close(int sockfd);
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int shutdown(int sockfd, int how);
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#include <sys/types.h>
#include <sys/socket.h>

int connect(int sockfd, struct sockaddr *serv_addr, int addrlen);

Wl sl ity socket() LS Sl 3 L S Gl (S s aasila : sockfd
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#include <string.h>
#include <sys/types.h>
#include <sys/socket.h>
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#define DEST IP "132.241.5.10"
#define DEST PORT 23

main() {

int sockfd;
struct sockaddr_in dest_addr; /* will hold the destination addr */

if (( sockfd = socket(AF INET, SOCK_STREAM, 0))!I=NULL) {

dest addr.sin_family = AF_INET; /* host byte order */
dest_addr.sin_port = htons(DEST _PORT); /* short, network byte order */
dest addr.sin_addr.s_addr = inet addr(DEST _IP);
bzero(&(dest_addr.sin_zero), 8); /* zero the rest of the struct */

if ((connect(sockfd, (struct sockaddr *)&dest addr, sizeof(struct sockaddr)))!=-1) {
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int sendto(int sockfd, const void *msg, int len, unsigned int flags, const struct sockaddr *to,
int tolen);
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int recvfrom(int sockfd, void *buf, int len, unsigned int flags,struct sockaddr *from,
int *fromlen);
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3 Jme 0T 53 1) (BLys slaesls Jale wi a8 alabl 51 dove sl 2 buf
Sl dal g
(b e ) 3 a3l Ll &S oly Jsb: len
s 3 A 1 0T 5l SIS 4 sockaddr ¢ 55 5l Cul (5 S| o : from
b 4l s ey 5 ol slibie aal s gy sl S TP sl Sliasiie L 1T Jule
..\_:;SV_:.E;JJ.Lp@\Jﬂ:ﬂag
el o ls S | ST Jele i & ol (628 2l J s len

Al ool et ol s a8 el 2l sl 0wl ol S gl

2ol Sl el 8L s glaesls Lsls o (gl

Sy w398 asly )s sabs @iles (9
u_.,w;uuﬁ@ﬂdmV_ng_ﬁ;@\j;u_.:g,uw@\jsj\ﬂg
V_:,ny-@ﬁ:.;bL@Jw,»%_ﬂjtv_;ﬁub\ﬁ.MJﬁbuﬂ_p)g_ﬁ@

S

getpeername() @G (9-

#include <sys/socket.h>

int getpeername(int sockfd, struct sockaddr *addr, int *addrlen);
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#include <unistd.h>

int gethostname(char *hostname, size t size);
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#include <netdb.h>

struct hostent *gethostbyname(const char *name);

o> wjj_w&_:ajj) r\_s LSJ:S‘)LS m):name
NGRS WU SRS ST
struct hostent {
char *h name;
char **h aliases;
int h_addrtype;
int h_length;
char **h_addr_list;

|5

#define h_addr h_addr_list[0]

Mot 35 dalsst o5 5 i andy ol ml K5 1) fdle o ¢l : hmame
(www.ibm.com
(352 00 —=\0 Load,y —l) il Hlatew ft’ : h_aliases
Al ol sl A s s s oyl a8 5 SSles) el o3l 6Lt h_addrtype
(\o—ils dal g AF_INET i
ol e u—”)-’T Jsb : h_length
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4_S herror 5H|ﬂjﬁ_;:ﬁofél_?gjuu|}5gﬁﬁﬁermowv_l§@|jj
J_Erﬂ\_.’é)jj—@ dl—‘ﬂ‘-{—lC)—b Syls s CU o=l o3 s Sl té) S
#include <stdio.h>
#include <stdlib.h>
#include <errno.h>
#include <netdb.h>

#include <sys/types.h>
#include <netinet/in.h>

int main(int argc, char *argv[])

{

struct hostent *h;

if (arge !=2) { /* error check the command line */
fprintf(stderr,”usage: getip address\n”);
exit(1);

}

if ((h=gethostbyname(argv[1])) == NULL) { /* get the host info */
herror(“gethostbyname”);
exit(1);

H

printf(“Host name : %s\n”, h-h_name);
printf(“IP Address : %s\n”,inet_ntoa(*((struct in_addr *)h-h_addr)));

return 0;

63,5 bl 5 (63959 Ol | 0 9> e wjﬂ&_idcﬁ_..«\getip 4l o el
AS o Sl A G b Sl il iy TP sl | O e e
13,05 555 Rl VL sl 3) 505 5 SIS
Olop st (55 1y sl o a8 ol o paty b G5 sl (6 1 SIS 4y b il
Enter LIS 5 axdip s adoold SO L ejsm oL O o 53 s 5035 (0L
s Jle s Sles

$ getip www.ibm.com
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#include <stdio.h>
#include <stdlib.h>
#include <errno.h>
#include <string.h>
#include <sys/types.h>
#include <netinet/in.h>
#include <sys/socket.h>
#include <sys/wait.h>
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#define MYPORT 3490 /* the port users will be connecting to */
#define BACKLOG 10 /* how many pending connections queue will hold */

main()

{
int sockfd, new_fd; /* listen on sock fd, new connection on new_fd */
struct sockaddr_in my _addr; /* my address information */
struct sockaddr_in their_addr; /* connector's address information */
int sin_size;

if ((sockfd = socket(AF_INET, SOCK_STREAM, 0)) ==-1) {
perror("socket");
exit(1);

H

my_addr.sin_family = AF_INET; /* host byte order */
my_addr.sin_port = htons(MYPORT); /* short, network byte order */
my_addr.sin_addr.s_addr=INADDR_ ANY; /* auto-fill with my IP */
bzero(&(my_addr.sin_zero), 8); /* zero the rest of the struct */

if (bind(sockfd, (struct sockaddr *)&my _addr, sizeof(struct sockaddr)) \
—=-1{
perror("bind");
exit(1);
H

if (listen(sockfd, BACKLOG) == -1) {
perror("listen");
exit(1);

H

while(1) { /* main accept() loop */
sin_size = sizeof(struct sockaddr in);
if (new_fd = accept(sockfd, (struct sockaddr *)&their addr, \
&sin_size)) ==-1) {

perror("accept™);
continue;

}

printf("server: got connection from %s\n", \

inet_ntoa(their_addr.sin_addr));
if (fork()) { /* this is the child process */
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if (send(new_fd, "Hello, world!\n", 14, 0) ==-1)
perror("send");
close(new_fd);
exit(0);
}

close(new_fd); /* parent doesn't need this */

while(waitpid(-1,NULL,WNOHANG)>0); /* clean up child processes */
H

L s in Coms ol LS o aS il OF dms o plonil ol Bl ) &S las
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QJJSaccept())‘wn_'mJaMijﬂwubfw|ft_u 3 ,S daler sl
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#include <stdio.h>
#include <stdlib.h>
#include <errno.h>
#include <string.h>
#include <netdb.h>
#include <sys/types.h>
#include <netinet/in.h>
#include <sys/socket.h>

#define PORT 3490 /* the port client will be connecting to */

#define MAXDATASIZE 100 /* max number of bytes we can get at once */

' pid ( Process Identifier )
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int main(int argc, char *argv[])
{
int sockfd, numbytes;
char buff MAXDATASIZE];
struct hostent *he;
struct sockaddr_in their_addr; /* connector's address information */

if (arge 1=2) {
fprintf(stderr,"usage: client hostname\n");
exit(1);

b

if ((he=gethostbyname(argv[1])) == NULL) { /* get the host info */
herror("gethostbyname");
exit(1);

}

if ((sockfd = socket(AF _INET, SOCK_STREAM, 0)) ==-1) {
perror("socket");
exit(1);

H

their addr.sin family = AF INET;  /* host byte order */
their_addr.sin_port = htons(PORT); /* short, network byte order */
their_addr.sin_addr = *((struct in_addr *)he-h_addr);
bzero(&(their_addr.sin_zero), 8);  /* zero the rest of the struct */

if (connect(sockfd, (struct sockaddr *)&their addr, \
sizeof(struct sockaddr)) ==-1) {

perror("connect");
exit(1);

§

if ((numbytes=recv(sockfd, buf, MAXDATASIZE, 0)) ==-1) {
perror("recv");
exit(1);

}

buf[numbytes] = "\0";
printf("Received: %s",buf);

close(sockfd);
return 0;
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#include <stdio.h>

#include <stdlib.h>

#include <errno.h>

#include <string.h>

#include <sys/types.h>

#include <netinet/in.h>

#include <sys/socket.h>

#include <sys/wait.h>

#define MYPORT 4950 /* the port users will be connecting to */
#define MAXBUFLEN 100

main()
{
int sockfd;
struct sockaddr_in my_addr; /* my address information */
struct sockaddr_in their_addr; /* connector's address information */
int addr_len, numbytes;
char buff MAXBUFLEN];

if ((sockfd = socket(AF_INET, SOCK_DGRAM, 0)) ==-1) {
perror("socket");
exit(1);

§

my_addr.sin_family = AF_INET; /* host byte order */
my_addr.sin_port = htons(MYPORT); /* short, network byte order */
my_addr.sin_addr.s_addr=INADDR ANY; /* auto-fill with my IP */
bzero(&(my_addr.sin_zero), 8); /* zero the rest of the struct */

if (bind(sockfd, (struct sockaddr *)&my_addr, sizeof(struct sockaddr)) \
—-){
perror("bind");
exit(1);
§

addr_len = sizeof(struct sockaddr);
if ((numbytes=recvfrom(sockfd, buf, MAXBUFLEN, 0, \
(struct sockaddr *)&their _addr, &addr _len)) ==-1) {
perror("recvfrom");
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exit(1);
§

printf("got packet from %s\n",inet ntoa(their _addr.sin_addr));
printf("packet is %d bytes long\n",numbytes);

buf[numbytes] = "0";

printf("packet contains \"%s\"\n",buf);

close(sockfd); }

Sl bt 03,8 2l 55 0l ST 0l s 45 1 (sl ael ¢ (6 200 a3

5 B g 5 s italkerc (B Ly sy 81 Jo 0 yiny S o Jll 0dids s
fbes | | e RIS WS

$ talker www.hserver.edu hello

oo dali g A dal o Jlslsdas s 5w S 4 4l Lo g5 hello a i

3,8 Al Ol s 5 s sl As Al &S e 5 b sias s s e

#include <stdio.h>
#include <stdlib.h>
#include <errno.h>
#include <string.h>
#include <sys/types.h>
#include <netinet/in.h>
#include <netdb.h>
#include <sys/socket.h>
#include <sys/wait.h>

#define MYPORT 4950 /* the port users will be connecting to */

int main(int argc, char *argv[])
{
int sockfd;
struct sockaddr_in their_addr; /* connector's address information */
struct hostent *he;
int numbytes;

if (arge I=3) {
fprintf(stderr,"usage: talker hostname message\n");
exit(1);
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§

if ((he=gethostbyname(argv[1])) == NULL) { /* get the host info */
herror("gethostbyname");
exit(1);

}

if ((sockfd = socket(AF_INET, SOCK_DGRAM, 0)) ==-1) {
perror("socket");
exit(1);

}

their addr.sin_family = AF_INET;  /* host byte order */
their_addr.sin_port = htons(MYPORT); /* short, network byte order */
their _addr.sin_addr = *((struct in_addr *)he-h_addr);
bzero(&(their_addr.sin_zero), 8);  /* zero the rest of the struct */

if ((numbytes=sendto(sockfd, argv[2], strlen(argv[2]), 0, \
(struct sockaddr *)&their addr, sizeof(struct sockaddr))) ==-1) {
perror("sendto");
exit(1);

H

printf("sent %d bytes to %s\n",numbytes,inet ntoa(their addr.sin_addr));
close(sockfd);

return O;
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Local Variable
Work Space
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int 4 Byte i"”L_f e Jbesdle i sde S

float 4 Byte IEEE b)‘u)\JLLAﬂ‘ \_’ “*l_g )LG_%- 6)[.;.;9‘ Sde "i.’.

boolean 1 Bit s, ls False L True &J> 53 a5 i"' 5 i_.ﬁ e

3l 3 kool 315 §151 (V=) U

Sl gams by s il 8 SO e sl e TS sl s
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G sl e Ll s s B8 et lage ol 4SS sl s 20 G il L
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ot il 4 e Sl b b alaael w45 A0S ek 1S e s S
Sl pa oS il e Tty i U G el ¢ Dl iy S i3l 43l 3y WIS e
Aol o eslatal BB laael 4y o s 5 dces LeodS i lad Jald 552 s e o
T S LG WA I U < o N VR VG S W P VRN Vo] P J S | E S P W
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Attributes
Method
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33 45 o l> (pakage) aiw S dle pl g dls GLATCH Jsol b oS les S0 5 6

Joldsie g5 opl oS ils o 0 ;S0 5 s 1) daliss sue (LS o astie |y WS
] \L;‘lj.hjﬂj i Cand 93

class ComplexNumber {

] 3 gt slom) Blotn iia ) ot S

protected double re, im;

I Xibn g Aot o s 53 oS 51 51 53 Wgiamd (1) (o3850 5 (e (glgromd s

1128 o o31s 5 g eslinal 15 NG Olgy (oo piie 55 5520 o

pablic void Complex (double x, double y) { re=x; im=y;}

public double Real() {return re;}

public double Imaginary() { return im; }

public double Magnitude ( ) { return Math.sqrt (re*re+im+im); }

public double Angle() {return Math.atan(im/re);}

class test {

I3 oS 5 eslial (gl dyder oIS S iy o3

public static void main (String aras[ ] ) {

ComplexNumber C;

13 iy iy ks i 5 31 (ot Ko i

C=new ComplexNumber();

I sy gn A3 35 bl 55 Blisen yiia ¢ 55 51

C. Complex (3.0, 4.0);

ks pria ¢ 58 51 o S4 45 adyl 23,1000

System.out.println ("The magnitude of C is " + C. Magnitude() );

}

'Real & Imaginary Part
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class Factorial {
public static void main(int argc, String args[ ]) // ol &l » Lu
long i, f, lower=1, upper=20; // &L = e s Sl
for (i=lower ; i<=upper ; i<=upper; i++) { // C++ 0L L aliw ;li.}:. -
F= factorial(i) ; /=il
System.out.println (i+ " " +f); // print i and t

}

}

4 factorial &b e 5 o i 25 Factorail ob 45 ol 5 Lol 9IS Tz YL Je s
main aicen a5 wsl 5 WS Lol 55t 55 .ol olis S 25 WIS cpl 5l 6 5 Ol s
/ Ll ol Sl 3 factorial s g6 ¢ 5 yls rU
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w_.::LAdeJ_:QJM&)‘MQ‘ﬁM‘}bbwaZMDL})GCAJLi‘ZMijJw
1 0T 015 o il sl ke &y e S50 45 (b iy anl) 3 Ll (620

' Java enabled browser
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public class Example extends java.applet.Applet {

}

rl_g.?je.b_g&;)\au.\)AppletSM;@%&}\w%‘Example u*’%‘;a'lj’dgﬂ.‘l"

byl e 35l e el B 3ls ;S5 e b il 5 e sl ) S ST Sl
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o=l A Sl Sl g AS T e Sebss 5 JBUT S s sl Ll e eel
Dl as)le bas gxe
init() start() stop() destroy() paint()

Ll e init() 5 paint() las gte JHls s $o lied Cl::o-l a5l i aS (g 5% g
st ol Sleslaal Les g desls ol ool g5 6 oy 3l s oS (g5 o
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public void paint(Graphics screen) {

/ / display statements go here

3
L;“L:_..’;\j\Graphicsu.»M.c,._M\&l;a&&g>ﬂ6>)”ouj§jm{dmﬁ
%}@\ﬁcdﬂd‘y&hw|)@AS‘JLAJQJ‘)QLMMJ\M\}SL;«ASAMW
oLl s Graphics 5 G5l s ST S J 28 Wsd esls Jiled ¢ oz (555 Sl

ol 4l B glal s class < a5 51 L3 1 import 5 g2ees ¢ 43S e eslital

import java.awt.Graphics;

Rl s d gn Ll S5 00 53 Sl (NSLL e il 5 LSS L init() 5 g0 <
Jsb 5 as ola s gl dl ey oSl @Utm,o;;rgj.;;d\ﬁél,ﬁinit() 5 g
Sl cmlie ol st cplcslgiiny S Olge 4 558 0 eslanal 3L 5550 Sl ()
Lol S .;AJ@\?}S@}L&«T}”&; oldlely cl e s g2 -l Lsstart() > 520 <
oS Slles 3y e a5 S w3l sgme opl b il el i e U3 ye stop() 5 2 | sl
'5}‘:’&@"‘1)‘.”)\'.’}3"}:"'L')'.’.‘))‘W|)lf.i>)j‘d§“-<ié‘}‘x‘°‘)6‘ﬁ

A dal gt i e 1350 Sl ol ¢ 50 635 1o 420 ol 45 s stop () 35z <
‘U,v_a;;étmi\ﬂgﬂ;swu,b(%t&u)%wﬁﬂlﬁ@u)
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Override
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) il oL 53 L S |y LIS el i g e itals 35k 15
LS g poolsd oo cpl 53 055 planl
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import java.awt.Graphics;
public class HelloWeb extends java.applet.Applet {
public void paint( java.awt.Graphics gc ) {
gc.drawString("Hello Web!", 125, 95 );
}
}

Sl = S S, Cl &S AS sl o i ol rj})u:,.bfl&itglﬂl sl
S g Sl e 5 05,8 5U e Siul s s L LB S0y amio S sl
Ou;)jjﬁ.]a.:DM)J leWJ\.:.Soﬂp-;.html Juﬂl.v‘jT:ﬂ) Lolen osle ujw
s 5L

<html>

<head> </head>

<body>

<applet code=HelloWeb width=300 height=200>

</applet>

</body>
</html>

Lokl Sulas & oy gLl cheight bl 50 oy Jsb cwidth el )l ¢ YU US askad 5s
d_?-jj;(.c,.&-jﬂfr_:.a\j}j_jhﬁgjanéap;)jﬁ);v.nd.,&)s).ﬁ&ubbjﬁa
Sl S (v=1) s s s Jles Olge 4 g Al (V- IS o a0 YU )
:@\oMoJ\AQ&;))f@;mjsﬂ)Jﬂb@l{

Choice menu =il (g 5w — ¥ Panel L =Y TextField jze glacsls 55,5 b -\
Button (g ,Lis 4JS -0 Canvas 3l S (e dmio —E
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import java.awt.*;
import java.lang.*;
import java.io.*;
import java.applet.*;

// This program illustrates a simple applet with a TextField,
// Panel, Button, Choice menu, and Canvas.

public class Examplel extends Applet {
TextField tf;

DrawCanvas c;

Button drawBtn;

Choice ch;

// Add the Components to the screen..

public void init() {

// Set up display area...
resize(300,200);
setLayout(new BorderLayout());

/I Add the components...
// Add the text at the top.
tf = new TextField();
add("North",tf);

// Add the custom Canvas to the center
¢ = new DrawCanvas(this);
add("Center",c);

// Create the panel with button and choices at the
bottom...

Panel p = new Panel();

drawBtn = new Button("Draw Choice Item");
p-add(drawBtn);
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// Create the choice box and add the options...
ch =new Choice();

ch.addItem("Rectangle");
ch.addItem("Empty");

ch.addItem("Text");

p-add(ch);

add("South",p);

H

// Handle events that have occurred
public boolean handleEvent(Event evt) {
switch(evt.id) {

// This can be handled

case Event. ACTION_EVENT: {
if(evt.target instanceof Button) {

// Repaint canvas to use new choices...
c.repaint();

} // end if

return false;

default:
return false;

}

// Return the current choice to display...
public String getChoice() {
return ch.getSelectedItem();

}

// Return the text in the list box...
public String getTextString() {
return tf.getText();

}

}

// This is a custom canvas that is used for drawing

// text, a rectangle, or nothing...

class DrawCanvas extends Canvas {
Examplel elapp;

/I Constructor - store the applet to get drawing
info...

public DrawCanvas(Examplel a) {
elapp=a;

H

// Draw the image per the choices in the applet...

public synchronized void paint (Graphics g) {
/I Get the current size of the display area...
Dimension dm = size();

// Draw based on choice...

String s = elapp.getChoice();




Yol coun/dCus o g wlip iyl pwrigo Jsuo!

// Calculate center coordinates...

int x,y,width,height;

X = dm.width/4;

y = dm.height / 4;

width = dm.width / 2;

height = dm.height / 2;

// Paint a rectangle in the center...

if (s.compareTo("Rectangle") == 0) {

// Draw the rectangle in the center with colors!
g.setColor(Color.blue);
g.drawRect(x,y,width,height);
g.setColor(Color.yellow);

g.fillRect(x + 1,y + 1,width - 2,height - 2);
} // end if

// Get the text in the applet and display in the
middle...

if (s.compareTo("Text") == 0) {

String displayText = elapp.getTextString();
g.setColor(Color.red);
g.drawString(displayText,x,y + (height/2));
}

}

.=t Netscape - [Examplel]

Sosp b 53 d RS Jolo iy bdped SRS (s (V1) IS
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1S 03l sl lgls OGEs) (1P-IE
5 S (aSKE L Gl S Juls oS cnl gl slaanas 51 ey G javaunet
ou%ﬁ&lwyubfd‘fﬁﬁw‘ﬁywﬁc‘};jbMw‘))&:,MLAURL

1l
sl (G i S 3 0313 sl 5 bL3 S (651 3 5 S IS Socket WS <

o LS s 9y Canw )3 0303 Asle 5 LLI 1 iy 20 S IS - ServerSocket WS <

s

S el Al St i OISl 3 Leas e 1B s 3550 | Socket IS T
Wb g e 5 0 el o ege

Socket(String host, int port)

Socket(InetAddress address, int port)

synchronized void close()

InputStream getInputStream()

OutputStream getOutputStream()

33 $hls 48 Lo Socket ¢ 55 WIS \“ZJ.SJ'Lﬂ" Slas e Cdd 3 pss 5 Jsl slas s

Z.«\Jﬁoéulm‘ Q)M}J@M\j&joéﬁ ‘J.>:A &_«U“J,x.s“
Lw ¢35 ol 3ok 5l CS s WIS slwl (6l o Socket(String host, int port) (&l
QILSLFL‘ﬁ)T‘)JJ—bJ‘)HgMJMJJ—“QJJ—ZSJL“—‘LJJ_":’LA&?.;)}’-VL’J")JT
Odal 352 50 51 b 5 aalinad &S 5 G Gl gl a5t cpl 5 ST a s e aseia
oS daly 5L OTIP Le)sl 5 ol ae 5 DNS Jaw 5 S5 55 &y oy 0 5 rucgﬂ

P dle 5 g dal i See SIS Aalsl ¢ fas ol 0350 sl o oy o
try {
Socket sock = new Socket("cs.wustl.edu", 25);

catch ( UnknownHostException ¢ ) {
System.out.println("Can't find host.");

H
catch ( IOException e ) {

System.out.println("Error connecting to host.");

}

' Constructor
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¢ose pl G b 5l S g WIS sl (1t Socket(InetAddress address, int port) (<

Wdid@uﬁjijéj_laqéj‘)_ﬁ ;M"g_f‘“ijf"’;))ﬁ ZJM}WJLA&.:IP LfdJJT
P dle 35 go Jlusl 350 4 "192.34.221.108" Jie axy SO oygm 4 TP oyal 35S e

try {
Socket sock = new Socket("128.252.120.1", 25);

catch ( UnknownHostException e ) {
System.out.println("Can't find host.");

catch ( IOException e ) {
System.out.println("Error connecting to host.");

}

Ghﬂjwl)gs}wcajbﬁq;)r@TCP LL;)V,:;'-sz:»w\:close() _sfva(c
23S dal ST 1 el o3> yarass

Sleos ol Ol 4 S O — getOutputStream() 5 getInputStream() slas s (3
ol 5 L Al Ol 3l Q\j_:..,)u)ﬂc,.w.l.g Iy S o dg 0l o3ls Coed 5 5 5 (35008
S s 5 Jle w N g

try

{

Socket server = new Socket("foo.bar.com", 1234);

InputStream in = server.getInputStream();

OutputStream out = server.getOutputStream();

// Write a byte

out.write(42);

// Say "Hello" (send newline delimited string)

PrintStream pout = new PrintStream( out );

pout.printin("Hello!");

// Read a byte

Byte back = in.read();

// Read a newline delimited string

DatalnputStream din = new DatalnputStream( in );

String response = din.readLine();

server.close();

catch (IOExceptione ) { }

)
L 1o 15 ot Ll oo (Input Stream/Output Stream) o> s,5 5 3905 il popin &5 AS <o
(CH L) sl LS 51 (w)S' 55 OutputStream , InputStream .uuSs oLzl o 2wl ¢ 55 GUSS 3w pspie
pEtiawwY
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‘J_Q.QOHJ 054 nl b g0 oy g 53 55— L1 3 5 TCP bLLS LI VYYE s osled g
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&:»53cOILSLQJ}:Aj’-ﬂjJﬁﬁ@‘%be“bw}rﬂW)bégSyw%gdb-
DS

ServerSocket( int port)
ServerSocket(int port, int count)
synchronized void close()

Socket accept()

el s s sl jlow (slas gte ¢ ol @Tﬁ&j\éé\dﬁ@p:;d;\ slas g
(bind) Jde &S 5w 4 0 idd g v oo 53 L &S Sl S (50S) sl cport
LU S, ool 3 g g 0 0ls 35S (6l SUasl Ol count jzal 4L £33 355 53 .35
el ¢ (listen) <oy 5 4z O30 oS Jee L8355 5 S5 sk ServerSocket > .l
e Dbl I SGc s Olpe fad glanl 534S e sgde b Lids accept > gt 3 50 0
CS g o G heasiiin ¢35 cpl 288 5 e AS o Colda ael 4 S5l 6l
il L Jl)l Lol s 5 03T s 13T m s 583555 Slems ool 0155 50 65 o
S dlie s ol s ) cmnl S Il al L bl 4S5 Jle ps iy
Sy ool 03,5 Lde 5 S g SG a1 as ¢ (Gl (6 28 (6,555 5 0 iad e 5 o
sl Cldes 51 ey g odd 4t u 4 (g s Sy s 53) Ghae O3Sl 51 S VYT

A dal et s LU oT ¢ ol s

// Meanwhile, on foo.bar.com...

try {
ServerSocket listener = new ServerSocket( 1234 );

while ( !finished ) {
Socket aClient = listener.accept(); // wait for connection

InputStream in = aClient.getInputStream();
OutputStream out = aClient.getOutputStream();

// Read a byte



YV ol S o a9 ol S| s digo Jguo!

Byte importantByte = in.read();

// Read a string
DatalnputStream din = new DatalnputStream( in );
String request = din.readLine();

// ' Write a byte
out.write(43);

/I Say "Goodbye"
PrintStream pout = new PrintStream( out );
pout.println("Goodbye!");

aClient.close();

}

listener.close();

H
catch (IOExceptione) { }

Ol 03 = 2= 33 ¢ el i a5 Socket OS534S o e glad e s
DA Hles Las S
S eds Ozl &y g s ke ol Socket WIS 4 Slae oS s g6 ol getport() <
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Al Gaseid |y bl Llie G b ey ga 0 L blas Socket ¢ il ys 5 bLS |
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nix Network Programming, volumes 1-2 by W. Richard Stevens. Prentice Hall.
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